\Q%EM# E@uﬂT‘zoN’S OF ACTRIE # 2

1.G) A*+y? =49 b) x*+(y-3)*=16
Center (0,0) Center (0,3)
r={Hq = T r=Nl6=4

c) (x -6)%3% 4G d) x*+(y)*=6N
Center (3,0) (enter (0, 2)
r={4q="7 r=ecM = 8

e) (x-5)*+ (yr3)-16=0 ¥) (’X+'—i)2'+(3"'2_)1=i00

(X=9)*+ (G+3)*= |6 |
nter (M, 2)
Center (5,-3) ¢ B
r=\I00O =10

r=\le =M



Q,G)C(O )y (=2 b) C (o, “zv)”r:S

) 7+ (y-K)°=r* (%-h)*+(y-K)*=r?
~o>-*-+<5u-o)2 o O 0y r (g~2)* (5)
1‘(& ¥2)%=
* X2y Y 2 =N
@) C(4,0); r=3 d) Clh,K); r=p

(xX-4)"+ ¥ (Y 0)2= (3)* (%- h)*+ ( -
’P

(’X‘“h)m—\'(ij“H)l':r"* (x-h)*+ G )) {‘
(-4 )%+ Y= q . (F-n) %



3. rx2+32+8x- 4 y+3 =0
Q) M(-3,-2)

TF 'X‘“3 and 8“-0
RS

tj(+87( "l 0]
*(3)“'+ )48 C 5) Lr(-2)+5
=9 +4 - 29+ 8 +3

=0
Since h.S= RS M(-3,72) is located
on the curc:\e

b) N(-2,4)
.L{: xX=-2 and 8 o
LS RS
'X"'i—a 1-(3’)( Hu+ 3 O
= C2PE0) 4 BC-HU)+ 3

=4+ |-~ 15_}5
= = :
Since hSER.S, N(-2,4) IS not located on the circle.



&) SU,2)
TF %=l and 3:2_;1

LS R.S
X * U4 X -
= ()% 280 3“!(2)1—3
= | -1-‘-1-+‘8-§+5

Since L.$*RS, S(,2) s not located
on the circlé.

4 @ Q -—'\4?{+ng—18'=0 '

fIlF ACT,3)=%=T7 and 8=3

CND*@)>-4C1)+ m@)-18=0
'-\CI+q —2% +383m~-18=0
TO*er_'m =0
A+l 20 =0
Zn = -2
A

rYL_-*‘\i



® o) Gen. 2=
Centec 00> ¢ >°+6): °

X it @ N

« ’0) o+0 = ¢ ®

- @”éb Car\)(er %:’(;
h K Je=c
@ Equation’



5a) CC0,0) ; %x=int=4
(4,0)

. ;
iO'Gﬁdr‘2g rxﬁ'_;r l:rl
(L«)"‘-Jrj(m%rl
e+ O =y2
6= 2%

FGUATIONS K>+ =2
x*+ g“‘= Lo



b) (271 and (4,3)
To find the (Enters
M= (Mr} ?LZ—LZJ‘-\')
M= <u 5_'7_)
(5 )
>
Usings C CE“K) and C"-l %)
%-h)% ;(i

4:%

CH* + B)*
\ +25=r2

?_)a-r
26=Y"7
el

h K
C3-2) r={26
~— o 2 H] —
Faua TION %L —h)’ + e @_@

_3)1 tj“‘ri‘. YA



h K
C(2,3) (2 L

) (x- h2+( -K) =12 {20 = V4x5
(4-2)*+ (=1=3)"=r? = o{5
(2)2*‘ CH)*=r®
4+ =07
Zo=x*%
—n i
C(hé) d 2\%0:5 ) <)
2 QuAaTTONS (x-hY +(\(-K)*=rz2 )
=20 (x%=2)% + (3-3) = (20)
o (x-2.) +(§*5)=; 20



h K X\
6 a) C M@ -3) AG, T)
—n )+ (q K '=r2 J20 = Jax5

6-4)*+ (4 -3)= 2> =2]5
Y+ (4)>=r2
94 +le=r2

2.9_‘—1"9’
—
K“) 2~1——
C(4-3) EauaTToN s (x=n)*+ Cy li) ==
rEC’E} K xmi-l)ll-( -3) = C\§ )
or X—-A )+ C a3 =
2\:‘3



b) C(-3,-4); Passes +h int of
;nfest%ﬁcﬁ?nu%{: P§x+y 03 & 51*39 =2

Ir:a £ind the point of infersection,
remember -I—hg.ra are 3 methods

(substituhon, elimination ,and I9ruphm3)

:ij will use substitution:

O ox+y=3
g— -2%+ 3 Subin@

@ 51*
3‘? LA+I)= D,

5*>:+é:.fx: =2

1% = 2+9
_l'x il
TR

X=1 Subin@®

10



_ h K
ob) C(3-4) pu a3

r._._..a’
0 find £72 (o)t (y-K) o s
(\%3)2'&*( --1—14.)"":- 2
@F + (5)2=r*
4 =r2

E&Uﬂfﬂ‘_}(};l\(g (‘X“h\z..}_( “K)2 =2
(x+3)*+ C% +4 )“‘-I‘H

11
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